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A 95%
B 98%
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== Amerlcan Cat Chinese Cat Indian Cat
A 3% 7% 5%
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C 2% 3% 4%
D 5% 8% 7%
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Recall:

Other Cat

9%

10%

5%
2%

92.4%
91.0%

Average
6%
6.5%
3.5%
5.25%
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Medical image classification example:

Suppose:
(a) Typical human ................... 3 % error
(1) TRECR L BOCEEE . .. . unconeus sunwsnsm 1 % error
(c) Experienced doctor ............... 0.7 % error

(d) Team of experienced doctors .. 0.5 % error

What i1s “human-level” error?

2020/7/20 Deep Learning Study
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Suppose: “

(a) Typical human ................... 3 % error

@ ki) 1 E ) R —— 1 % error

Experienced 31 | R 0.7 % error

@Toam of experienced doctors .. 0.5 % error

What 1s “human-level” error?

Andrew Ng
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(1) Train setOf| & 2f

(2) Dev/Test setH| A= & BF7| (E4F=0[7])
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- dtst 213l (Dropout, Data augmentation)
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